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Guess Paper – 2013

Class – XII
Subject –
Maths
Topic: Matrices & Determinants,vectors,line &plane, L.p, area b/w two curves, inverse funct., derivative &diff.equation.
Find x , if [image: image2.png]o 2= &




1. For what  x, the matrix  [image: image4.png][s—x x+ 1

N : ] is singular ?




2. Find the value of λ if    îλ + 3ĵ +2 k̂ and 3î – ĵ +4 k̂ are parallel . 

3. If   [image: image6.png]


=3,[image: image8.png]


=4 and [image: image10.png]


  ,   find the angle between[image: image11.png]


 and [image: image12.png]



4. Express the following matrix as the sum of a symmetric and skew symmetric matrix, 

[image: image14.png]


        

5. [image: image16.png](b+c)* ab ac
prove that : ba (a+c)? bc |=2abcla+b+c)?
ca b (a+b)?
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6. Find the inverse of matrix , using elementary operations:

[image: image20.png]


                                                                         

                                                     Or    

 if A = [image: image22.png]


   , find A-1  . using     A-1     solve the system of equations:

2x-3y+5z =11 ; 3x+2y-4z = -5;  x+ y -2z = -3 .    
[image: image1.png]o 2= &



       8. 

   9.      If vectors [image: image23.png]


,[image: image24.png]


 and [image: image25.png]


  are such |[image: image26.png]


+[image: image27.png]


+ [image: image28.png]


 | =0, and | [image: image29.png]


 | = 6, | [image: image30.png]


 | = 8 and |[image: image31.png]


 | = 10. 

            Find ([image: image32.png]


.[image: image33.png]


+[image: image34.png]


.[image: image35.png]


+[image: image36.png]


.[image: image37.png]
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  10.     Let [image: image39.png]


 = [image: image41.png]


 – [image: image43.png]


 , [image: image45.png]


 = 2[image: image46.png]


+  [image: image48.png]


 + [image: image50.png]3k



   and [image: image52.png]


 = [image: image54.png]


 – [image: image56.png]


   Find a vector [image: image58.png]


  which is perpendicular to both                                         [image: image60.png]


 , [image: image62.png]


 and [image: image64.png]


 [image: image66.png]


 = 1.

11.     Express the vector [image: image68.png]


 - 2ĵ + 5 k̂ as a sum of two vectors such that one vector is parallel to the vector  [image: image70.png]o

= 3i



 +  k̂ and other is perpendicular to [image: image72.png]ol




12.   If y=[image: image74.png]


 , then prove that :  (1-x2)[image: image76.png]&,

g



- x[image: image78.png]


 - a2y = 0           
13.   If (cos x)y = (sin y )x , find [image: image80.png]


 .
14.   tan-1 [image: image82.png]


= [image: image84.png]


 + [image: image86.png]


 [image: image88.png]


 .

                      Or 

  2 tan-1 [image: image90.png]


   + tan-1 [image: image92.png]


  = tan-1 [image: image94.png]


  .     

15. Solve for x:    tan-1 [image: image96.png]


  +  tan-1 [image: image98.png]xr1
2



   =  [image: image100.png]


 .    

16. Find the area enclosed between the circles: x2 + y2 = 4 , (x-2)2 + y2 = 4  .

Or

 Find the area enclosed between the parabolas: x2 = 4x ,  y2 = 4x .

17.Solve the differential equation:  ( 1+ x2) [image: image102.png]


 + y = [image: image104.png]tan™' x




18. Solve the differential equation:   2xy dx + ( x2  + 2 y2)dy = 0.

19. Find the angle between the line [image: image106.png]


  and the plane 2x +y – 3z = 4.
Or      
  Find the equation of line which passes through the point (1, -1, 2) and parallel to  [image: image108.png]T3 _ yo4_ 278




20. Find the shortest distance between the lines, whose equations are [image: image109.png]x-8
3





or

Find the coordinate of the foot of perpendicular drawn from the point(1,2,1) to the line      

            [image: image111.png]


 . 

21. Find the equation of the plane which is perpendicular to the plane 5x + 3y + 6z + 8 = 0 and  which contains the line of intersection of the planes  x + 2y + 3z – 4 = 0   &   2x + y – z + 5 = 0.

Or

Find the equation of the plane passing through the point (1,1,1) and containing the line 

[image: image112.png]


 = -3î +ĵ +5 k̂ + λ(3î - ĵ + 5 k̂). 
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